
a) Present value of binding commitments of network users for contracting capacity c) f-factor Result: b) x c) Economic test

passed?

(please only fill out the yellow fields in columns C, F and G, please delete values in grey fields in columns C, F and G) (please only fill out the yellow fields in columns L, N and O, please delete values in grey fields in columns L, N and O) Present value related to the year Present value related to the year f-factor Result Passed?

2021 2021

197.329.462,27 197.322.366,61                                                -                        JA

Amount of contracted incremental 

capacity
x =

Result Amount of available capacity that was 

contracted in combination with the 

incremental capacity
x =

Result Overall result

Year

Amount of contracted incremental 

capacity in kWh/h/a x

Reference prices 

in €/kWh/h/a

Auction premium 

in €/kWh/h/a

Minimum premium 

in €/kWh/h/a =

Result in €

Year 

Amount of available capacity that was 

contracted in combination with the 

incremental capacity in kWh/h/a

x

Auction premium 

in €/kWh/h/a

Minimum premium 

in €/kWh/h/a =

Result in € Overall result in 

€

Present values related to year of 

binding capacity request in €

Year Overall costs per year in 

€

Present values related to year of binding 

capacity request in € 

2019 0 x 3,4020 = 0,00 2019 x = 0 0,00 0,00 2019 -                               -                                                                     

2020 0 x 3,4020 = 0,00 2020 x = 0 0,00 0,00 2020 -                               -                                                                     

2021 0 x 3,4020 = 0,00 2021 x = 0 0,00 0,00 2021 -                               -                                                                     

2022 0 x 3,4020 = 0,00 2022 x = 0 0,00 0,00 2022 66.601,64                   63.825,28                                                         

2023 0 x 3,4020 = 0,00 2023 x = 0 0,00 0,00 2023 391.955,19                 359.958,08                                                       

2024 0 x 3,4020 = 0,00 2024 x = 0 0,00 0,00 2024 3.180.007,96              2.798.668,58                                                    

2025 0 x 3,4020 = 0,00 2025 x = 0 0,00 0,00 2025 8.364.298,06              7.054.407,11                                                    

2026 400.000 x 3,4020 10,5090 = 5.564.400,00 2026 x = 0 5.564.400,00 4.497.354,43 2026 16.449.014,77            13.294.703,74                                                  

2027 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2027 x = 0 22.257.600,00 17.239.507,77 2027 16.259.283,31            12.593.542,92                                                  

2028 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2028 x = 0 22.257.600,00 16.520.858,68 2028 16.069.551,86            11.927.736,83                                                  

2029 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2029 x = 0 22.257.600,00 15.832.167,31 2029 15.879.820,40            11.295.556,28                                                  

2030 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2030 x = 0 22.257.600,00 15.172.184,86 2030 15.690.088,95            10.695.354,84                                                  

2031 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2031 x = 0 22.257.600,00 14.539.714,55 2031 15.500.357,49            10.125.564,90                                                  

2032 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2032 x = 0 22.257.600,00 13.933.609,50 2032 15.310.626,04            9.584.693,96                                                    

2033 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2033 x = 0 22.257.600,00 13.352.770,65 2033 15.120.894,58            9.071.321,14                                                    

2034 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2034 x = 0 22.257.600,00 12.796.144,75 2034 14.931.163,12            8.584.093,73                                                    

2035 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2035 x = 0 22.257.600,00 12.262.722,46 2035 14.741.431,67            8.121.724,05                                                    

2036 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2036 x = 0 22.257.600,00 11.751.536,50 2036 14.551.700,21            7.682.986,31                                                    

2037 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2037 x = 0 22.257.600,00 11.261.659,92 2037 14.361.968,76            7.266.713,75                                                    

2038 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2038 x = 0 22.257.600,00 10.792.204,42 2038 14.172.237,30            6.871.795,80                                                    

2039 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2039 x = 0 22.257.600,00 10.342.318,73 2039 13.982.505,85            6.497.175,44                                                    

2040 1.600.000 x 3,4020 10,5090 = 22.257.600,00 2040 x = 0 22.257.600,00 9.911.187,05 2040 13.792.774,39            6.141.846,69                                                    

2041 1.200.000 x 3,4020 10,5090 = 16.693.200,00 2041 x = 0 16.693.200,00 7.123.520,70 2041 13.603.042,94            5.804.852,15                                                    

2042 0 x 3,4020 = 0,00 2042 x = 0 0,00 0,00 2042 9.163.311,48              3.747.272,69                                                    

2043 0 x 3,4020 = 0,00 2043 x = 0 0,00 0,00 2043 8.973.580,03              3.516.708,28                                                    

2044 0 x 3,4020 = 0,00 2044 x = 0 0,00 0,00 2044 8.783.848,57              3.298.854,78                                                    

2045 0 x 3,4020 = 0,00 2045 x = 0 0,00 0,00 2045 8.594.117,11              3.093.053,13                                                    

2046 0 x 3,4020 = 0,00 2046 x = 0 0,00 0,00 2046 8.404.385,66              2.898.677,11                                                    

2047 0 x 3,4020 = 0,00 2047 x = 0 0,00 0,00 2047 8.214.654,20              2.715.131,75                                                    

2048 0 x 3,4020 = 0,00 2048 x = 0 0,00 0,00 2048 8.024.922,75              2.541.851,87                                                    

2049 0 x 3,4020 = 0,00 2049 x = 0 0,00 0,00 2049 7.835.191,29              2.378.300,55                                                    

2050 0 x 3,4020 = 0,00 2050 x = 0 0,00 0,00 2050 5.213.266,16              1.516.473,36                                                    

2051 0 x 3,4020 = 0,00 2051 x = 0 0,00 0,00 2051 4.190.318,62              1.168.099,10                                                    

2052 0 x 3,4020 = 0,00 2052 x = 0 0,00 0,00 2052 4.118.542,37              1.100.231,14                                                    

2053 0 x 3,4020 = 0,00 2053 x = 0 0,00 0,00 2053 4.046.766,11              1.035.991,65                                                    

2054 0 x 3,4020 = 0,00 2054 x = 0 0,00 0,00 2054 3.974.989,85              975.196,04                                                       

2055 0 x 3,4020 = 0,00 2055 x = 0 0,00 0,00 2055 3.903.213,60              917.668,82                                                       

2056 0 x 3,4020 = 0,00 2056 x = 0 0,00 0,00 2056 3.831.437,34              863.243,15                                                       

2057 0 x 3,4020 = 0,00 2057 x = 0 0,00 0,00 2057 3.759.661,08              811.760,41                                                       

2058 0 x 3,4020 = 0,00 2058 x = 0 0,00 0,00 2058 3.687.884,82              763.069,81                                                       

2059 0 x 3,4020 = 0,00 2059 x = 0 0,00 0,00 2059 3.616.108,57              717.028,04                                                       

2060 0 x 3,4020 = 0,00 2060 x = 0 0,00 0,00 2060 3.544.332,31              673.498,86                                                       

2061 0 x 3,4020 = 0,00 2061 x = 0 0,00 0,00 2061 3.472.556,05              632.352,81                                                       

2062 0 x 3,4020 = 0,00 2062 x = 0 0,00 0,00 2062 3.400.779,80              593.466,84                                                       

2063 0 x 3,4020 = 0,00 2063 x = 0 0,00 0,00 2063 3.329.003,54              556.724,01                                                       

2064 0 x 3,4020 = 0,00 2064 x = 0 0,00 0,00 2064 3.257.227,28              522.013,24                                                       

2065 0 x 3,4020 = 0,00 2065 x = 0 0,00 0,00 2065 3.185.451,03              489.228,94                                                       

2066 0 x 3,4020 = 0,00 2066 x = 0 0,00 0,00 2066 3.113.674,77              458.270,82                                                       

2067 0 x 3,4020 = 0,00 2067 x = 0 0,00 0,00 2067 3.041.898,51              429.043,61                                                       

2068 0 x 3,4020 = 0,00 2068 x = 0 0,00 0,00 2068 2.970.122,25              401.456,78                                                       

2069 0 x 3,4020 = 0,00 2069 x = 0 0,00 0,00 2069 2.782.264,75              360.388,30                                                       

2070 0 x 3,4020 = 0,00 2070 x = 0 0,00 0,00 2070 2.597.578,08              322.439,76                                                       

2071 0 x 3,4020 = 0,00 2071 x = 0 0,00 0,00 2071 2.416.062,26              287.406,02                                                       

2072 0 x 3,4020 = 0,00 2072 x = 0 0,00 0,00 2072 2.353.798,52              268.327,25                                                       

2073 0 x 3,4020 = 0,00 2073 x = 0 0,00 0,00 2073 2.291.534,77              250.339,68                                                       

2074 0 x 3,4020 = 0,00 2074 x = 0 0,00 0,00 2074 2.229.271,03              233.385,50                                                       

2075 0 x 3,4020 = 0,00 2075 x = 0 0,00 0,00 2075 2.167.007,29              217.409,80                                                       

2076 0 x 3,4020 = 0,00 2076 x = 0 0,00 0,00 2076 2.104.743,55              202.360,48                                                       

2077 0 x 3,4020 = 0,00 2077 x = 0 0,00 0,00 2077 2.042.479,81              188.188,05                                                       

2078 0 x 3,4020 = 0,00 2078 x = 0 0,00 0,00 2078 1.980.216,07              174.845,56                                                       

2079 0 x 3,4020 = 0,00 2079 x = 0 0,00 0,00 2079 1.274.216,55              107.818,43                                                       

2080 0 x 3,4020 = 0,00 2080 x = 0 0,00 0,00 2080 718.583,54                 58.268,63                                                         

2081 0 x 3,4020 = 0,00 2081 x = 0 0,00 0,00 2081 0,00                            0,00                                                                  

2082 0 x 3,4020 = 0,00 2082 x = 0 0,00 0,00 2082 0,00                            0,00                                                                  

2083 0 x 3,4020 = 0,00 2083 x = 0 0,00 0,00 2083 0,00                            0,00                                                                  

2084 0 x 3,4020 = 0,00 2084 x = 0 0,00 0,00 2084 0,00                            0,00                                                                  

2085 0 x 3,4020 = 0,00 2085 x = 0 0,00 0,00 2085 0,00                            0,00                                                                  

2086 0 x 3,4020 = 0,00 2086 x = 0 0,00 0,00 2086 0,00                            0,00                                                                  

2087 0 x 3,4020 = 0,00 2087 x = 0 0,00 0,00 2087 0,00                            0,00                                                                  

2088 0 x 3,4020 = 0,00 2088 x = 0 0,00 0,00 2088 0,00                            0,00                                                                  

2089 0 x 3,4020 = 0,00 2089 x = 0 0,00 0,00 2089 0,00                            0,00                                                                  

2090 0 x 3,4020 = 0,00 2090 x = 0 0,00 0,00 2090 0,00                            0,00                                                                  

2091 0 x 3,4020 = 0,00 2091 x = 0 0,00 0,00 2091 0,00                            0,00                                                                  

2092 0 x 3,4020 = 0,00 2092 x = 0 0,00 0,00 2092 0,00                            0,00                                                                  

2093 0 x 3,4020 = 0,00 2093 x = 0 0,00 0,00 2093 0,00                            0,00                                                                  

2094 0 x 3,4020 = 0,00 2094 x = 0 0,00 0,00 2094 0,00                            0,00                                                                  

2095 0 x 3,4020 = 0,00 2095 x = 0 0,00 0,00 2095 0,00                            0,00                                                                  

2096 0 x 3,4020 = 0,00 2096 x = 0 0,00 0,00 2096 0,00                            0,00                                                                  

2097 0 x 3,4020 = 0,00 2097 x = 0 0,00 0,00 2097 0,00                            0,00                                                                  

2098 0 x 3,4020 = 0,00 2098 x = 0 0,00 0,00 2098 0,00                            0,00                                                                  

2099 0 x 3,4020 = 0,00 2099 x = 0 0,00 0,00 2099 0,00                            0,00                                                                  

2100 0 x 3,4020 = 0,00 2100 x = 0 0,00 0,00 2100 0,00                            0,00                                                                  

2101 0 x 3,4020 = 0,00 2101 x = 0 0,00 0,00 2101 0,00                            0,00                                                                  

2102 0 x 3,4020 = 0,00 2102 x = 0 0,00 0,00 2102 0,00                            0,00                                                                  

2103 0 x 3,4020 = 0,00 2103 x = 0 0,00 0,00 2103 0,00                            0,00                                                                  

Worksheet f-

factor is 

suggestion;

alternatively 

please delete, 

enter own value 

and reasoning

b) Present value of the estimated increase in the allowed revenue of the TSO associated with the 

incremental capacity included in the respective offer level

(i) Sum of the respective estimated reference prices and a potential auction premium and a potential mandatory minimum 

premium multiplied by the amount of contracted incremental capacity

Sum of estimated reference prices and a potential auction 

premium and a potential mandatory minimum premium

(ii) Sum of a potential auction premium and a potential mandatory minimum premium multiplied by the amount of available 

capacity that was contracted in combination with the incremental capacity

Sum of potential auction premium 

and potential mandatory minimum 

premium



Suggested f-factor

(please only fill out the yellow and red fields in columns C and F, values in grey fields in columns C and F must be 0) (please only fill out the yellow fields in columns L and N, values in grey fields in columns L and N must be 0) Present value related to the year

2021 2021 2021 2021

Explanation:  Income after the period of binding capacity requests are yellow, income from set aside capacity red

-                                             197.329.462,27                                             -                                                                  197.329.462,27                          

Amount of incremental capacity 

likely to be sold after the period of 

binding capacity request/from the 

set aside capacity 

x =

Result Amount of existing capacity likely to be sold 

after the period of binding capacity requests
x

Potential auction 

premium 
=

Result Overall result

Year 

Amount of incremental capacity 

likely to be sold in kWh/h/a x

Reference prices in 

€/kWh/h/a

Auction premium 

in €/kWh/h/a

Minimum premium 

in €/kWh/h/a =

Result in €

Year

Amount of existing capacity likely to be sold 

in kWh/h/a x

Auction premium 

in €/kWh/h/a

Minimum premium 

in €/kWh/h/a =

Result in € Overall result 

in €

Present values related to year of 

binding capacity request in € 
=> Proposal f-Factor Art. 23 NC CAM 

(1) a),  c) und d) : 1,00
2019 0 x 3,4020 = 0,00 2019 x = 0 0,00 0,00

2020 0 x 3,4020 = 0,00 2020 x = 0 0,00 0,00

2021 0 x 3,4020 = 0,00 2021 x = 0 0,00 0,00

2022 0 x 3,4020 = 0,00 2022 x = 0 0,00 0,00

2023 0 x 3,4020 = 0,00 2023 x = 0 0,00 0,00

2024 0 x 3,4020 = 0,00 2024 x = 0 0,00 0,00

2025 0 x 3,4020 = 0,00 2025 x = 0 0,00 0,00

2026 0 x 3,4020 = 0,00 2026 x = 0 0,00 0,00 Adjustment factor for Article 23(1)(b) NC CAM 1

2027 0 x 3,4020 = 0,00 2027 x = 0 0,00 0,00 Explanation: must be estimated and justified by network operator

2028 0 x 3,4020 = 0,00 2028 x = 0 0,00 0,00
2029 0 x 3,4020 = 0,00 2029 x = 0 0,00 0,00 Suggested f-factor 1,00
2030 0 x 3,4020 = 0,00 2030 x = 0 0,00 0,00

2031 0 x 3,4020 = 0,00 2031 x = 0 0,00 0,00

2032 0 x 3,4020 = 0,00 2032 x = 0 0,00 0,00

2033 0 x 3,4020 = 0,00 2033 x = 0 0,00 0,00

2034 0 x 3,4020 = 0,00 2034 x = 0 0,00 0,00

2035 0 x 3,4020 = 0,00 2035 x = 0 0,00 0,00

2036 0 x 3,4020 = 0,00 2036 x = 0 0,00 0,00

2037 0 x 3,4020 = 0,00 2037 x = 0 0,00 0,00

2038 0 x 3,4020 = 0,00 2038 x = 0 0,00 0,00

2039 0 x 3,4020 = 0,00 2039 x = 0 0,00 0,00

2040 0 x 3,4020 = 0,00 2040 x = 0 0,00 0,00

2041 0 x 3,4020 = 0,00 2041 x = 0 0,00 0,00

2042 0 x 3,4020 = 0,00 2042 x = 0 0,00 0,00

2043 0 x 3,4020 = 0,00 2043 x = 0 0,00 0,00

2044 0 x 3,4020 = 0,00 2044 x = 0 0,00 0,00

2045 0 x 3,4020 = 0,00 2045 x = 0 0,00 0,00

2046 0 x 3,4020 = 0,00 2046 x = 0 0,00 0,00

2047 0 x 3,4020 = 0,00 2047 x = 0 0,00 0,00

2048 0 x 3,4020 = 0,00 2048 x = 0 0,00 0,00

2049 0 x 3,4020 = 0,00 2049 x = 0 0,00 0,00

2050 0 x 3,4020 = 0,00 2050 x = 0 0,00 0,00

2051 0 x 3,4020 = 0,00 2051 x = 0 0,00 0,00

2052 0 x 3,4020 = 0,00 2052 x = 0 0,00 0,00

2053 0 x 3,4020 = 0,00 2053 x = 0 0,00 0,00

2054 0 x 3,4020 = 0,00 2054 x = 0 0,00 0,00

2055 0 x 3,4020 = 0,00 2055 x = 0 0,00 0,00

2056 0 x 3,4020 = 0,00 2056 x = 0 0,00 0,00

2057 0 x 3,4020 = 0,00 2057 x = 0 0,00 0,00

2058 0 x 3,4020 = 0,00 2058 x = 0 0,00 0,00

2059 0 x 3,4020 = 0,00 2059 x = 0 0,00 0,00

2060 0 x 3,4020 = 0,00 2060 x = 0 0,00 0,00

2061 0 x 3,4020 = 0,00 2061 x = 0 0,00 0,00

2062 0 x 3,4020 = 0,00 2062 x = 0 0,00 0,00

2063 0 x 3,4020 = 0,00 2063 x = 0 0,00 0,00

2064 0 x 3,4020 = 0,00 2064 x = 0 0,00 0,00

2065 0 x 3,4020 = 0,00 2065 x = 0 0,00 0,00

2066 0 x 3,4020 = 0,00 2066 x = 0 0,00 0,00

2067 0 x 3,4020 = 0,00 2067 x = 0 0,00 0,00

2068 0 x 3,4020 = 0,00 2068 x = 0 0,00 0,00

2069 0 x 3,4020 = 0,00 2069 x = 0 0,00 0,00

2070 0 x 3,4020 = 0,00 2070 x = 0 0,00 0,00

2071 0 x 3,4020 = 0,00 2071 x = 0 0,00 0,00

2072 0 x 3,4020 = 0,00 2072 x = 0 0,00 0,00

2073 0 x 3,4020 = 0,00 2073 x = 0 0,00 0,00

2074 0 x 3,4020 = 0,00 2074 x = 0 0,00 0,00

2075 0 x 3,4020 = 0,00 2075 x = 0 0,00 0,00

2076 0 x 3,4020 = 0,00 2076 x = 0 0,00 0,00

2077 0 x 3,4020 = 0,00 2077 x = 0 0,00 0,00

2078 0 x 3,4020 = 0,00 2078 x = 0 0,00 0,00

2079 0 x 3,4020 = 0,00 2079 x = 0 0,00 0,00

2080 0 x 3,4020 = 0,00 2080 x = 0 0,00 0,00

2081 0 x 3,4020 = 0,00 2081 x = 0 0,00 0,00

2082 0 x 3,4020 = 0,00 2082 x = 0 0,00 0,00

2083 0 x 3,4020 = 0,00 2083 x = 0 0,00 0,00

2084 0 x 3,4020 = 0,00 2084 x = 0 0,00 0,00

2085 0 x 3,4020 = 0,00 2085 x = 0 0,00 0,00

2086 0 x 3,4020 = 0,00 2086 x = 0 0,00 0,00

2087 0 x 3,4020 = 0,00 2087 x = 0 0,00 0,00

2088 0 x 3,4020 = 0,00 2088 x = 0 0,00 0,00

2089 0 x 3,4020 = 0,00 2089 x = 0 0,00 0,00

2090 0 x 3,4020 = 0,00 2090 x = 0 0,00 0,00

2091 0 x 3,4020 = 0,00 2091 x = 0 0,00 0,00

2092 0 x 3,4020 = 0,00 2092 x = 0 0,00 0,00

2093 0 x 3,4020 = 0,00 2093 x = 0 0,00 0,00

2094 0 x 3,4020 = 0,00 2094 x = 0 0,00 0,00

2095 0 x 3,4020 = 0,00 2095 x = 0 0,00 0,00

2096 0 x 3,4020 = 0,00 2096 x = 0 0,00 0,00

2097 0 x 3,4020 = 0,00 2097 x = 0 0,00 0,00

2098 0 x 3,4020 = 0,00 2098 x = 0 0,00 0,00

2099 0 x 3,4020 = 0,00 2099 x = 0 0,00 0,00

2100 0 x 3,4020 = 0,00 2100 x = 0 0,00 0,00

2101 0 x 3,4020 = 0,00 2101 x = 0 0,00 0,00

2102 0 x 3,4020 = 0,00 2102 x = 0 0,00 0,00

2103 0 x 3,4020 = 0,00 2103 x = 0 0,00 0,00

Result suggestion for f-factor from (a), (c) and (d) Present value from charges from binding capacity requests/Sum of present values from 

binding capacity requests and present value of revenue after the period of binding capacity requests and present value of income from the 

capacity set aside

Suggested calculation of the f-factor from Article 23(1) NC CAM

ii) Income from auction proceeds for existing capacity which was contracted in combination with the incremental capacity after 

the period of binding capacity requests Total present value related to the 

year

Sum of estimated reference prices and a potential 

auction premium 

Present value from charges from binding 

capacity requests related to the year

Present value from later charges and set aside 

capacity related to the year

i) Income from incremental capacity after the period of binding capacity requests and income from incremental capacity which is set aside


